TTDB series-125 A2 HW
150 2 baolts 3018-2 mounti

T7DB or T7DBS - B42 - B10 -1

P [

ing fiange

TTDBSsenes: SAE C 2 bolts
Mountng flange J744

Cam ring for "P1*
Volumeatrc dsplacerment cm’frev (inYfrev)

B14 = 43.9 (2.66) B3l = 891 (6.05)
BI7 = 550 (3.36) B35 = 113.4 (6.92)
B20 = 86.0 (4.03) B3E = 120.6 (7.36)
B2 = 703 (428 B42 = 137.5 (8.39)
B24 = 81.1 (4.85) 045 = 145.7 (8.89)
B28 = 89.9 (5.48) 050 = 1579 (9.64)

Cam ring for "P2’

Wolumetric displacernent cmires (irdirev)

B2 = 5.7 {0.35) BOS = 28.0{1.7)
B3 = .8 (060} B1d = 31.B{1.94)
B4 = 128 (0.78) Bl = 345 2.13)
Bas = 158 (0.o7) B12 = 40.9 (2.50)
BO6 = 19.8(1.21) B14 = 451 (2.75)
BOT = 225137 B15 = 500 {2.05)
B8 = 249 (152
INTERNAL LEAKAGE (| TYPICAL )
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Pressure in bar (psi)

Do it operale puimg more than 5 seconds al any speed or
viscosity if intemal leakage i more than 50% of theoretcal fliow.
Total beakage is the sum of each section l0es at its operating

conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)
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Total hydromechanical power loss ie the sum of each section at its
operaling condsdtions.
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L= Maodifications
Mounting W/connection variables

UNC
TrDBS

METRIC
TrDB- TrDBS

SCIC

1 3

Seal class

1-81 (jor minemal o)

4 - 54 (for fire resistant fluids)

& - 56 (fer mineral oil and fire
resistant fids)

Design letter

Parting corr

(see page BM-1-5)

DD - standard

Load F in N {Lbs)

Lp. Noise level {dbid)} Im IS0 4412

HE

Hom

200

1180

n of
R - clockwise
L - counter-clockwise
Type of shaft T7DBS
1 - keyed ISAE )
2 - keyed (no SAE}

{view on shaft end)

3 - splined {3AE C)

4 - splined {spec. BAE )

Type of shaft TTDB- TTDBS
5 - keyed (150 3018-2-GIIM)

NOISE LEVEL ( TYPICAL )
T7DE- B31-E10

" ] I

Inled pressure D0 Bar aie 1

Viscoalty 32 emlr

n= 1300 APM

- —— A= 160 APM e
L= Lp o+ 8 i (8)

o
foom

105 140 175
LE ) 000 0T

Pressure in bar (psi)
Double pump noise kel & given with sach section discharging at
the pressure noted an the curve.
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noan

282
[Elen]

PERMISSIBLE RADIAL LOAD

1550 2180 24m

Spoed n (rpm)
Maxirmum permissible avial (oad Fa = 1200 M (270 Lbs)

1820
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2l Shaft code 3 Shaft code 4 M 100,78 DEEP &8
SAE *C shaft 20
Shaft code 2 e o
(hizyed na SAE] 4 Shaft code 5
12/24 Dp. 14 Teath 1224 D 14 Teslh A BT i
a2 30° Pressune angle S0 Pressune angla ¥ L]
Fiat root side At Flat roct sida it
B35
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K
KEY 0,31 260 3106
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T e e - aft torque Emils infr si{mi revxbar)
[E& Nmi) Shaft code 1 Shait ok p max (P1+F2)
[Hayael SAE T} J 25290, LHEpeD)
1187 W) 2 30635 [HA590)
3 5AZ07_ (61200
Alternate mounting flange a SAE0T 1B1200)
Series os exd5® w K oD 5 I7E44 [42543)
MAX. Min. Alternaie connect.varisbles
T7DB 497 [124.99) 4919 (124.54) 0079 (20 | 0.374 [Bam 7.087 (180.0) | 0.709 [18.0) 20 & W0 21 &M
Alvoay 262 |0.BT4 (323
TIDBS] so0y2rod | 4998 (12684 | 005119 | osopem | 7426 (18100 | 0.689 [17.5) Blao6 52y [1874 i47E)
QPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only) |€]!.00 (254 075 (19.08

Flow q & n = 1800 rpm [

Input power p & n = 1800 rpm |

Volumetric
Pr:':" Series| Displacement Vp [p=o = 140 bar =250 Uk (40 g AR A S o [
| gpm | ipm | gpm | gpm | hp | kw | hp | kw | hp | kw |
B14 2.68 43,9 2082 791 1998 ] 725 | 171 | 673 | 348 26 | 2797 20.7 | a70a [ 350
B17 3,536 55.0 26.16| 98B | 2441 | %23 | 2304 | 87O | a7 28 | 33.88 253 | sT.71 | 430
B20 4.03 66.0 3130 | 1186 | 2064 | 1120 | 2827 | w068 | 407 3.0 | 3998 296 | 6830 | 509
B2 4.28 70.3 3343 | 1264 | 3169 | 119.6 | 3032 | 10486 | 419 31 | 4237 | 316 | 7257 | 540
B24 4,95 81,1 3857 | 1458 | 3s82 | 1392 | 3545 | 1340 | 448 3.4 | 48.36 361 | 8306 [ @19
P1 E28 5.48 89.9 4280 | 1616 | 41.06 | 1552 | 3asa | 1500 | 474 35 | 5330 [ 387 | e | 683
B31 6.05 9.1 4718 | 1783 | 4543 | 1m.7 | 2406 | 1865 | 4mn 3.7 | sa41| 436 [10s3 | 750
B35 .92 113.4 5393 | 2039 | 5248 | 1972 | soBt | 1s2p | sam 40 | 6620 | 494 [11442 | 853
B3 7.36 1206 5735 | 2168 | 5581 | 2102 | 5424 | 2040 | 550 42 | 7028 524 [12142 | 905
B4z B.39 1375 6500 | 2472 | 6365 | 2406 | 6228 | 2354 | 6O5 45 | 79.68 53.4 [137.83 | 1027
045 B.58 145.7 69.29 | 2620 | 6711 ] 2536 | 6551 | 2468 | 674 50 | 8375 | 624 |145.79 | 1087
050 o.64 157.9 75.14 | 2840 | 7286 | 27se | 7i7av| ema"| V.08 53 | 90.58 75 [134.50"] 100.3"
P = 0 bar (0 psi) |p = 140 bar (2000 psi} p = 300 bar (4350 psijp = 7 bar {100 psilp = 140 bar (2000 psijp = 300 bar (4350 psi]
BOZ 0,35 57 2.76| 104 2.33 8.6 1.80 66 | 074 | 055 a0z | 289 | 810 | GO4
BO3 0.60 5.8 466 176 | 423 | 159 370 | 140 | 085 | o063 G24 | 485 | 1293 | 964
B4 0.78 128 6509) 230 | 586 | 214 513 | 194 | 084 | om0 7.90 589 | 1655 | 1234
BO5 0.97 154 756 2as | 78| 269 G660 | 250 | o2 | o §.62 7a7 | 2020 | 1513
B8 12 19.8 942 | ase | &80 | e 846 | 3o | 113 | o84 | 1179 | &78 | 2500 [ 1884
BOT 1.37 225 1070 404 | 1027 | 388 974 | 368 | 120 | o089 | 1329 991 | 2828 | 2107
Pz Bog 1.52 24.9 11.84 | 447 | 11.41 431 | 10.88 411 | 127 | 085 | 1462 | 1080 | 3115 | 2323
503 1.7 2B.0 1331 503 [ 1287 | ase [ 1235 | 470 | 138 1.0 | 1835 | 1219 | 3492 | 26.04
Bil 1.94 318 1512| 572 | 1489 | 555 | 1416 | 535 | 148 109 | 1845 | 1375 | 3048 | 20.44
B11 213 34.0 16.64| 629 | 1818 | 612 | 15568 | 503 | 185 146 | 2047 | 1504 | 4322 | 3293
Bz 2,50 40,9 1a50| 737 | 1807 721 | 1854 704 | 1.72 i28 | 2355 | 1756 | 5058 | aym
B14 2.75 45.1 2140| 808 | 2085 | 7e2 | 2044 | 770 | 183 136 | 2580 | 19.24 | 5548 | 4137
B15 3.05 50.0 2378| 896 | pagss | 683 | 22887 | BEST| 1.87 147 | 2856 | 21.28 | 57.35%] 42.78"

1050 = 210 bar (3000 psil max int

2) B15 = 200 bar (906 psh mae. inl



